[bookmark: _GoBack]S3 Table.  A corrected formula yielded by the linear regression model at each test drug.
[image: ]
image1.emf
Absolute value % change

DMSO y = 0.1476x + 0.2433 -

0.1% y = 0.1797x + 0.2057 y = 0.6159x + 39.452

0.2% y = 0.1959x + 0.1880 y = 0.6561x + 36.331

0.3% y = 0.1897x + 0.1984 y = 0.7217x + 30.418

0.4% y = 0.1881x + 0.2002 y = 0.9644x + 6.4929

0.5% y = 0.1719x + 0.2217 y = 0.8614x + 16.444

E-4031 y = 0.1653x + 0.2316 -

1nM y = 0.1979x + 0.2057 y = 0.9347x + 10.563

3nM y = 0.2584x + 0.1531 y = 1.4164x + 31.882

10nM y = 0.3328x + 0.1217 y = 1.8977x + 69.94

30nM N.C. N.C.

Cisapride y = 0.1204x + 0.2898 -

3nM y = 0.1332x + 0.2856 y = 0.6124x + 41.668

10nM y = 0.1364x + 0.2998 y = 0.8659x + 19.943

30nM y = 0.1644x + 0.3091 y = 1.2274x + 8.1022

100nM N.C. N.C.

Chromanol y = 0.1674x + 0.2151 -

293B 1μM y = 0.2014x + 0.1804 y = 0.9162x + 10.568

3μM y = 0.2311x + 0.1591 y = 0.9948x + 6.8028

10μM y = 0.2773x + 0.1319 y = 0.9466x + 19.579

30μM y = 0.4182x + 0.0089 y = 0.9066x + 34.07

y = ax + b

Sham

Sham

N.C.; Since EAD and/or TA were observed, and number of sample was decreased, a corrected

formula was not calculated.  Sham indicates treatment with medium.
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